

Driyan Prasarak Mandal

S.M. Dnyandeo Mohekar Mahavidyalaya



Kalamb, Dist. Osmanabad

(Affiliated to Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.)

Infrastructure of College

Administrative Infrastructure Details

Name of Infrastructure	Length	Width	Sq.Ft	No of Desk	No of Black Board	No of Teacher Desk/Cupboard	No of Table	No of Chairs
Principal Cabin	15.7	20.7	324.99	44		***	79	
Principal Cabin Toilet	15.7	6.3	98.91	~.		***		
Registrar office	19.1	9.4	179.54	77	**	1	1	5
Cash Counter with Desktop and Printer	5,8	7.9	45.82	-		1	1	1
University Section Desktop and Printer	5.1	7.9	40.29	-		1	1	1
University Online Admission and Examination Unit with Desktop and Printer	10.4	8	83.2		-	1	1	1

TC Section and Junior Section	21.3	24.6	523.98		**	1	1	1
Water Purifier Unit			0	-		.57		
Secretory office/ Meeting Hall	23.4	21.8	510.12	1077			127	177
Secretory Office/ Meeting Hall Toilet	6.9	11.6	80.04		-	57/		272
Vice Principal Cabin	8	20	160	-		750	-	177
Store Keeping Record Room	23.6	10.2	240.72	77	Desktop-	3	2	5
Examination Section	30	18	540	220		2	2	6
NAAC/IQAC Office	14.6	19.1	278.86					
Establishment and Account Unit	15.1	19.18	289.62	Desktop-	Print.1	6	3	6
Main Auditorium Hall	80	29.6	2368	1	1	574	2	9+300 Chairs
Main Auditorium Hall Mike Assembly Unit	5	3	15	***				
Ladies Hostel	115	66	7590				-	-
YCMOU Office	13.6	24	326.4					
YCMOU Record Room	12.1	24	290.4					

Classroom Infrastructure Details

Name of Infrastructure	Length	Width	Sq.Ft	No of Desk	No of Black Board	No of Teacher Desk/Cupboard	No of Table	No of Chairs
Classroom No.1	21	39.5	829.5	50	1	1	0	2
Classroom No. 2	20	20	400	20	1			
Classroom No. 3	41	20	820	50	1	1	-	1
Classroom No. 4	20	20	400	20			***	
Classroom No. 5	20	20	400	25	1	1	1	1
Classroom No. 6	20	20	400	25	I	1		
Classroom No. 7	20	20	400	25	1	1	-	
Classroom No. 8	20	20	400	25	1	1		
Classroom No. 9	20	20	400	25	1	1	-	-
Classroom No. 10	20	40	800	50	1	1	2	
Classroom No. 11	35	20	700	40	1	1	**	**
Classroom No. 12	24	32	768	50	1	1	-	1
Classroom No. F-1	25	31.6	790	50	1	1		
Classroom No. F-2	25	31.6	790	50	1	1		
Classroom No. F-3	25	31.6	790	50	1	1		

Classroom No. F-4	21.6	50	1080	65	1	1		1
Classroom No. F-5 (New)	21.6	24.6	531.36	20	-	-	42	
Classroom No. F-6 (New)	21.6	23.6	509.76	34	(22)		-	1
Classroom No. F-7 (New)	21.6	40.9	883.44	40	1	1	-	
Classroom No. S-1	25	25.3	632.5	40	1	1		
Classroom No. S-2	25	17.8	445	25	1	1		
Classroom No. S-3	23	48.6	1117.8	76	1	1		

Library Infrastructure Details

Name of Infrastructure	Length	Width	Sq.Ft	No of Desk	No of Black Board	No of Teacher Desk/Cupboard	No of Table	No of Chairs
Library Main	20	50	1000	***	75	-		5724
Library E-Content Record	10	7	70		22			
Reference Library/Vocational Course	23.6	23.6	556.96	**	**		**	
Reading Room Boys	24.3	34.3	833.49			5	34	75
Reading Room Girl with Separate Online Reading Section	34.3	16	548.8	7	**	7		40
MPSC/UPSC Library	8.8	12.9	113.52				1	2

Department Infrastructure Details

Name of Infrastructure	Length	Width	Sq.Ft	No of Desk	No of Black Board	No of Teacher Desk/Cupboard	No of Table	No of Chairs
Faculty Combined	26	35	910	-	18.0	-		-
Commerce	11.8	7	82.6	15	•	1	2	4
History	6	8	48	2	-	1	1	3
Sociology	6	8	48	-		1	1	4
Political Science	6	8	48	-	-	1	1	3
Hindi	12.8	6.4	81.92	.50	120	1	2	6
Economics	6	8	48	-	-	1	1	4
Marathi	6	8	48	-	-	1	1	4
Mathematics	6	8	48	*	-	1	1	2
Toilet (4 No.s)	12	5	60			-	2.	
Extra Items	8	5	40	Basin 1		3		1
Dairy and Fishery Dpt.	21.3	33.1	705		1	1	9	2
Zoology with ICT (Smart Board Projector)	47.1	23	1083	Smart Board 1	1	1	8	18
Physics and Electronics Department	33.6	20.3	682.1	1	1		10	9
PG Zoology Department	31.6	24.6	777.4	77.		12	11	5

ICT with Smart Board Projector	25	25	625		1	1	45	
Computer Lab	25	25	625	Print-1		15		25
PG. Herbal Technology with 4 LCD and 1 printer	22	23.6	519.2	Print-1			-	
Plant Tissue Culture	11.9	22	261.8				24	
Botany Department with Smart Board Projector with 1 LCD Tv and Soundsystem	23.6	48.6	1147	40	2	44571	15	7
Horticulture Department with Smart Tv	33.6	30.3	1018			6	2	7
Home Science Department	19.1	19.1	364.8			5	4	5
Junior Physics	25	17.8	445			2	3	5
Geography Department with PG	39.3	27.6	1085	50	1	44565	26	5
GIS Unit	13	9	117			-	5	16
Chemistry Department	24.3	34.4	835.9		1		2	12
Chemistry Junior College	33.8	15.7	530.7				7	4
NCC (Boys)	19.9	9.1	181.1	-	-	3	3	14
NCC Girl Unit	25	15	375			3	2	3

Other Infrastructure (Including Sport) Details

Name of Infrastructure	Length	Width	Sq.Ft	No of Desk	No of Black Board	No of Teacher Desk/Cupboard	No of Table	No of Chairs
Language Lab	24	26	624			-		
Water Purifier Unit	10	5	50		-			
Ladies Room with Attached Toilet	31	40	1240			1	1	45
Ground Floor Toilet 3 Nos	24	15	360			-		
Store Room Watchman Cabin	5	15	75			240		
Earn and Learn Unit with Printer and Desktop	11.1	11.1	123	Comp-	Print-1	77	2	2
Canteen (1 Kitchen-1, Guest-1 Common-1)	38.2	39.6	1513			-		-
College Stationery	12.5	10.2	128					-
Parking Boys	19.11	51.6	986					
Parking Staff	47	27.8	1307			122		-
Shedhouse	22.3	23.9	533					
Botanical garden	150	25	3750					
Vermicompost Unit	3	6	18	100		-		
Boys Common Toilet	24	15	360			**		
Indoor Stadium	115	117	13455			**		

Badminton Court Kabaddi Matt Wrestling Court								
Outdoor stadium 400 M Running Track Shot Put Ground Descus Throw Cricket Ground Football Court Khokho-Kabaddi etc					ei m	ww.		-
Gym	18.5	40	740	77.	772		-	55.

PRINCIPAL S.M Dnyandeo Mohekar Mahavidvalava, Kallam

I Q A C
Coordinator
S.M.Dnyandeo Mohekar
Mahavidyalaya, Kalamb